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- (Translating Sentences: Two-Step Equations) £22

Translate each sentence into an algebraic equation.

1) The ratio of sum of mand 1 to 6 is equal to 2.

2) Theratio of d to 2 reduced by 3 gives 8.

3) Thesum of 31

4) Adding2to5 P E IE

Gain complete access to the largest
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5)  The product c collection of worksheets in all subjects!

6) 9added to th

7)  Thesum of 31
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8) The ratio of the difference between hand 6 to 2 is 8.
9) 1 minus 2 times k equals 13.
10) 7 multiplied by the difference between v and 5 gives 14.
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